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AR INIeT, 2025

Secondary Examination, 2025
TAT -0
Model Paper
fawa — fasm
Sub : Science

I : 03 TS 15 fAde
quTieh : 80
WS — 3
Section - A

1. ggfdedicdd T2 (| 9 xvin)—

Multiple Choice Questions 18X1

=1 oAl & IR BT Tl [Ahed =7 R IR g | forRag |

Choose the correct option to the following questions answer from multiple choice question- (i to xviii) and write it in given
answers book.

i) & T3 IWTHAT B TR H PIEAT HAF I o— 1
PbO (S) + C(S)— 2Pb(S) + CO; (g)

(1) T 3rofyd & & 2| (I) FreTeTgiaazs Sudfrd 8 I 2 |

(1) B1e Suafdd 81 <&l 2 | (|v)é@’34ﬁm13€auaﬁ?r%‘rw%‘|

(1) (i) wa (i) (@) () va (iii)

(&) (0).G1),Gii) () Sugad wh

which statement regarding the reaction given below is false -
PbO (S) + C(S)— 2Pb(S) + COz (g)

(D Lead is being reduced (IT) Carbon dioxide is being oxidised.
(IIT) Carbon is being oxidised. (IV) lead oxide is being reduced
) () and (i) (@) () and (iii)

(|) (1),31), (i) (@) All of above

(i) @ & WIFTUA B ST | g & forg f=foRag § & ai=RT fAf Sugad & 1

(37) U (@) de o

@) e o Rd FeThx (3) SWad |

Which of the following method is suitable to protect an is an frying pan from rusting ?

(A) Applying grease (B) Applying Paint

(C) By zinc plating (D) All of the above

(i) v &7 3mvfdd qF CoHe B 509 — 1

(31) 6 HAEEIOIH AT T | (@) 7 AEHASTD M T |



() 8 AEHASTH AMEH B | (&) 9 W HANTD T 7 |
The molecular formula of ethane is C> Hg, it has

(A) 6 Covalent bonds (B) 7 Covalent bonds

(C) 8 Covalent bonds (D) 9 Covalent bonds

(iv) Fe;03+2A1 —— Al,0; + 2Fe
S & T AR fFE yeR @ 7 —
(a1) AT arffsan (%) fefaveros sifafban
(@) faare aififbar (1) favermos aifdfan
Fe2 O3 +2Al —» Al,O3 + 2Fe
Which type of reaction is given above -
(A) Combination reaction (B) Double displacement reaction
(C) Decomposition reaction (D) Displacement reaction

(v) ®1E faera Jvs & R g daa 9 AfAfshar axab TP I I~ vl & ol
T S UM BT GRRT SR il & | §9 [dad+ BT A4 Fargi—

(31) Nacl @) Hcl

(4) Licl () kal

A solution reacts with ground egg shell to produce a gas which turns the lime water milky.

what will be in this solution.

(A) NaCl (B) HCl

(©) ticl (D) Kcl

(vi) ST 9910 A IS 9ci9 DI dell 9I8) | dlell 8 8l © dl 39T Adeld & b —
(37) HoM g ARE W S UbT 2| () U9 X ORE W el ofel W&l ¥
() Ser e 2| (@) 39 0 TRE ¥ A =T 2|

If the bottom of the vessel is getting black from outside while cooking food, it means that -

(A) ) Food is not cooked completely (B) Fuel is not burning completely.
(C) Fuel is wet (D) Fuel is burning completely
(vii) Trey # SITsoH STRERY 28—

(31) STt &1 a8+ (@) | BT g8

() VHHT 3 BT a8 GEESISEEICE

In a plant xylem is responsible for

(A) Transport of water (B) Transport of food

(C) Transport of amino acids (D) Transport of oxygen

(viii) feferRad § 9 PI9ar urey BEH § —

(37) =gfer (@) emaRifae

(4) eI (%) \TgTIBISA

Which of the following is a plant hormone -

(A) Insulin (B) Thyroxine

(C) Estrogen (D) Cytokinin

1



(ix) e Y@ # gem & forv AaRkass &1 B9 9T StRerR ' —

(31) R (@) AegHRTSn

() rgARTh SIEEEIPEEN]

Which part of the brain is responsible for walking in a straight line -
(A) Cerebrum (B) Midbrain

(D) Cerebellum (C) Hypothalamus

(x) srfrar S @1 fafer & —

SOREICEY (4) sgEsT
(%) grogHd (<) gt

The method of reproduction in Amoeba is -

(A) Binary fission (B) Multiple fission
(C) Regeneration (D) Budding

(xi) STgaTfIHar & S H T —

(31) AEHA BRIS @) IR S Asd
(@) Htefar fafuen @) =ged

The father of genetics is -

(A) Michael Faraday (B) Gregor John Mendel
(C) Marcello Malpighi (D) Newton

(xii) Fe=iferRaa & | Wifde acd & —

(1) Tred (9) T
(&) arg () w@
Which of the following is a biological component -
(A) Plant (B) Soil
(C) Air (D) Water
Xiii) STl ®T fARUET fuaciid & —

31) 1.5 9) 1.31

9) 1.33 ]) 242

The absolute refractive index of water is -
A) 15 B) 1.31
C) 1.33 D) 2.42

Xiv) IRATIS GART UG AT GART & AL FAI BT R T BT o—
31) 10 fAe 9) 5 fime
9) 2 e 3) 8 A e

The time difference between actual sunset and apparent sunset is approximately -



A) 10 Minute B) 5 Minute

C) 2 Minute D) 8 Minute

xv) ®Is fIgd 9ed, 220V & SIFF & T 837 2 | AR 98 & 0.5 YHIRR @ faegd
YRT yaTfzd BT & AT ded @1 i sRf—

3) 11 drc §) 110 dIc

3) 440 d@IC g) 220 d@Ic

An electric bulb is connected to a 220 V generator. If 0.5 ampere current flows through
the bulb than the power of the bulb :-
A) 11 Watt B) 110 Watt
C) 440 Watt D) 220 Watt
xvi) fodY a1 & UfeRig &1 799 iR aRar 2—
31) ATAD DI o s TR d) ATeAd D AU BIc & SFABA TR
) TAD D UarRd Bl Ul W §) SWRIGd FT I

The Value of resistance of a conductor depends on -

A) The length of conductor B) The area of cross- section of conductor
C) The nature of material of conductor D) On all of the above
xvii) TGULE & AHY fdgfd uRuer § &RT &1 AH—
31) gRafda &l 8ien 21 §) FRar gRafid gk ¢ |
H) 980 HH &l 9T & | &) 984 SITH q¢ S T |
At the time of short circuit, the value of current in the circuit -
A) Does not change B) Vary continuously
C) Reduces substantially D) Increases heavily
xviii) gHE & Ao gal § RER g 28—
31) STHYT 9) gfamyor
W) IMHYTT g UfIHYor  §) SWRIad H A HIg el
The homogeneous poles of a magnet have mutual-
A) Attraction B) Repulsion

C) Attraction and repulsion both D) None of the above



2) Raa I @1 gfd @ifore « Fill in the blanks- 6x1
i) o wfeoal (@t gai) & faafed ga) FHRe a9 ... arfaferar 2 |

The decomposition of green vegetables (Vegetable matter) into compost in

the reaction of ....covvvvvveveeeennnnnnn.

ii) 3 MnO, (S)+4 Al (S) 2 4 e SO

3MnO» (S)+4 Al ($)—2%ooorot Heat
1) T (S TR =g dfHdT T 991 B |

.................. and .................. together form the central nervous system.
iV)INSIT TR G 3T AT A GRET U Rl B |
The ozone layer provides protection from ............ coming from the sun.
v)1kwh &7 a9 .. SERCACHE S

The Value of 1 kwh is equal to ............ joule.
vi) U U foTue faegaRiel did & @R @l 37Th BRI aTell ATIPR RISl DI
.................. B T |

A cylindrical coil with several turns of closely wrapped insulated copper
wire 1s called a ............
3) RIS U : Quesytion - 12x1
i) a2t f6E wed B ?
What is homologues series ?
ii) I Ud aRE<h @iel UarRil &l Asgio | ywiad i fhar Sirdr 87
Why are oils and fat containing food items affected by nitrogen ?
iii) U Aol g9 & pH &1 A 6 BIAT &, S8 99 S W g9 pH & a1
T gREc BT ? [HESy |
The pH value of fresh milk is 6,Explain what will be happens to

it’s pH when it become curd .

iv) AIISTH FARTSS B gelaal fdvg AT BT FH07 BRI |




Construct the electron dot structure of sodium Chloride.

v) YA A9 drel I BT A9 918y | 1
Name the instrument which measures blood pressure.

vi) AG AT dF P Ga9 B WEHAS SHIE BT M qad8d | 1
Name the smallest structural unit of the human nervous system.

vii) A & TRR # YT &1 99T fhds gRT U i § ? 1

From where does the fetus get nutrition in the mother body ?

viii) 59 fd &g 8 ? 1
What is gene ?
ix) o<1 emar &1 S.1. 715 faRay | 1
Write the S.I. Unit of power of lens.
X) UbTeT & fdermor & aR9Iiia Sy | 1
Define Dispersion of Light.
xi) foell JrgTd UfeR & UfoRIg® & RIRI | 12v 3 ded] @I FATId HH IR gRY
# 2.5 mA fagd a1 garfed 8kl 8| UfeRIer® 1 UfcRrer qRebford B | 1
When a 12 v battery is connected across an unknown resistor, there is a
current of 2.5 mA flows in the circuit. Find the value of the resistance of the resistor.
Xii) FHEDHII &3 XGRIT & DIg <l T iy | Votlo=1
Write any two properties of magnetic field lines.

Section — B

AHTRIHD T
4) FrfoReaa srfeamell & forg agfora JHieRor foaRay | 2

i) eTTT BTgSlNgS+HBIaTSRITIES —» BIITH HIEI-C + Sid

i) STe+Ricar A8ge —— >N ATsge+Rica”
Write balanced equations for the following reactions

1) Calcium hydroxide +carbon dioxide——» calcium carbonate+ water



11) Zinc + silver Nitrate — zinc nitrate+ silver

5) i & TeHIR® el I fordT R BIRA T Il | 3T /D] Ygard da
BHA? 2
Which gas is produced on Zinc’s reaction with sulphuric acid? How will

you Identify it ?

6) SHALHT ATaATSS FT BIT 8 ? &I SHILH IfTRATgS! BT IS8R STy | 2

What are amphoteric oxides ? Give examples of two amphoteric oxides.

7) AR T9EA & AR TDIN & [AEved &I AHSISY | 2
Explain the break down of glucose during aerobic respiration.

8) wcarad far & o afed awsmEy | 2
Explain the process of gravitropism with diagram.

9) IMITAISH YW & 3L DI BT AMIDhd a7 I BY 9D [dA~T JRI Pl
Ay | 2
Explain the various part of a angiosperm flower by drawing labelled
diagram of its longitudinal section.

10) 9g ¥ fofir feriRor o7 RRad frE g1 a@=m=y | 2
Explain sex determination in humans with the help of a schematic diagram.

11) 15cm HIHE G & 3fddd QUYL ¥ 25cm G R Tdh I @I T8 o |

SO | ol 0 R B U< &7 3@ oY 6 ud R W gfafde o @) 2

An object is placed at a distance of 25cm from a concave mirror of focal length

15cm. At what distance should a screen be kept from the mirror so that a clear

image is obtained on the screen.

12) sifom dfad # 90 BT fdemdl &1 swMuce R forar gam yert § &fos Bl ©

gg faemefi fea gfc Ty | qif$d 81 39 <Y & I~ 81 & &l BRY iRy |

9 Y I &g bR HAenfed fear < Gadr g ? Vit 1+Y6=2




A student has difficulty in reading the black board while sitting in the last row.
What could be the defect the student is suffering from ? Write two reasons for the
occurrence of this defect. How can it be corrected.
13) TIFRT &7 910 &1 &1 fam fafay | 2
Write Fleming's left hand rule.
Section — C
EICESHNEIES
14) BRI §d18Y | 17+ =3
Give reason:-
i) R A% URH Bl SMExr 9o+ d &l I@T SI+1 =iy ?
Why plaster of Paris should be kept in a moisture proof container.
ii) AT ST [dgfd &1 arcie @™l el 8Idl © Sidid aul Sfdl Bidl § 7

Why is distilled water not a conductor of electricity while rain water is ?

3rerar
PR IA18Y | 12+1% =3
Give reason:-
i)  HCl ST fdea # arii sifierersr UelRia ord & Safd Tedled & fdorg=i §
AT & AMeeror YefRia w81 8id o |

HCI show acidic characteristics in aqueous solution whereas it does not show acidic

characteristic in alcohol solutions .
i) h TRSIFARSG I I foreqd o3 & 37 &1 aaf 781 9ol 8 2
Why does dry hydrochloric gas not change the colours of dry litmus
paper ?
15) i) T fREM @ fafie fafert aHsrsy | 2
Explain the different methods of contraception

i) Fgea f&a swad 2°? 1



What is menstrual cycle?

Jrerar
i) TP PIRG Sl § 9s ST aTell Uoi= &I fafeRdt aarsy | 2
Describe the methods of reproduction found in unicellular
organism .
ii) B39l H hed A8y | 1

Explain budding in Hydra .
16) i) wurfl vd fwAa) # s 9y | 1
Explain the difference between autotroph and heterotroph.
ii) U &1 I qarsy OrAH arotg el gamel waieRer @ gHifad e g1 2
State two ways in which non-degradable substances affect the

environment.

3yeraT

i) Stetra Sfial @ 9™ Sl 64 # faRey R U Sila g &1 @rar 8 a9

& QT ST &1 91 Hifoy foTaH &H | $F 3 () a_oT 8 | 3
C o - & [ |

Write the names of aquatic organisms in the order in which one

organism eats the other and establish a chain which has at least three steps.

——a E—

17) Ry,R2 @ RURRIY & 9 URCRRIGT & 1ol A Aarerd &1 alRuer fors a9rar alRuer
B ol UeRIY (Jod IORIE) S0 B BT G UG BT | 1+2=3
Draw a circuit diagram of the series combination of three resistors of resistance Rj,R»
and R; and obtain the formuta to find the total resistance (Equivalent resistance) of the

Circuit .

AT



R1,R2 @ RUFRIE & F uftRIg®d! @ 91ed (FHIR) ¥ [arer & aRkuel e g+9ra) akuer
BT Bl UeRIY (e UiRIE) 91T BT BT G TG DITOTG |
Draw a circuit diagram of the parallel combination of three resistors of resistance Ri,R»
and R; and obtain the formula to find the total resistance (Equivalent resistance) of the
Circuit.

Section - D
IRERCIR:CARe RS E
18) f=farRaa & TUPACAH®RYT Py — 1X4=4
1) CH;CH=CH, i1) CH; CH,-OH
i11) CH; CH,-CH,-CH,Cl iv) CH; CH, CH, CHO

Give IUPAC nomenclature as follows.
1) CH3CH=CH2 11) CH3 CHz-OH
111) CH3 CHZ-CHZ-CHZCl lV) CH3 CHz CHz CHO

37T
frAferiRae It o1 HR=AT 9187 —

i) Vg ® 3T ii) S
iii) = iv) SRITeT

Draw the structure of the following compounds

1) Ethanoic Acid i1) Bromo pentane
1i1)  Butanone 1v) Hexanal
19) i) ¥M9 Urad dF &I AMifhd forF 918y | 2
i) MR W ScaAfld 7T BT A1H 9 B 9adrsy | 1
iii) eMHIERT STg3ll H &aT= & wIg SATel 9l 8l & ? 1

i)Draw a labelled diagram of human digestive system.
ii)Name and describe the function of the acid secreted by stomach.

iii)Why is the length of small intestine longer in herbivorous animals?



S]]

i) AT SToiA T BT AMifhd R 998 | 2
ii) g9b & Py & BRI (TR | 1
iii) ®FM smET f&d ®ed § ? 1

i)Draw a labelled diagram of human Excretory system.
ii)Write any two function of kidney.
iii)What is artificial dialysis.
20) YHIT & ORIGAT & 1T FIT FHSRT & 7 3[dded qUUT &) ARl | Ulifed YT ®)e BT fhvor

EEKRIESBSEIED 1+2+1=4

i) fd9 (aw)) g1 &= (C) R Rerd &7
ii) o (%) ®rew (F) = Rera 1|
SWRIG &[T Rerferi # ura ufiafdd &1 s g uefa i forRay |
What do you understand by refraction of light? Draw a ray diagram to obtain the
image with the help of a concave mirror when :-
1) The object is located at the centre of curvature. (C)
1) The object is located at focus (F)
Also write about the size and nature of the image obtained in both the

above situations.
3T
THIY & 3Tac AT FT FHd & 7 Sl o &l Aggal | ufafdd ura &xe &1
foxor o aargy Safe —
i) g (awq) e W= Rera &1
ii) fa% (%)) 2F; 9 F| & H=9 Rerd |
SWRIG aFT Reaferai § ured ufdfdd &1 s a yafa Wl forfey |

What do you understand by refraction of light? Draw a ray diagram to obtain the

image with the help of a convex lens when-



1) The object is located at infinity.
1) The object is located between 2F; and F;

Also write about the size and nature of the image obtained in both the above situations.

Q-
K




